[ BEEoms | (HR12LBR12- 10REERASEEL, |
T M AR AR U = (55 1625 B ER) A1 2—-1

2 AREERIE A ET

(HAE 1)
i g
S 2 E
= H
% B 300, 000
o % 180, 000
*
T ok B 100, 000
Wos T % 5, 000
ElE A 10, 000
oA & Fl A 5, 000
H
T N T S 0
z 300, 000
SRS S 0
iz
T NS 300, 000
[ MARAXO ET B, ]
meosy I A )
EHAL LA (0)
WO oA H 4 0
A
2 300, 000
oA & o A 4% BREME XL AHEHT




[2w¢§w%a]

e R RERE = (BB 1655 B81%) X1 2—1
FEENFEE-NDEE. EEEICHITTIRERE
9 AEFERG 4 EE LEEERY., ERFEZRAT LI L,
(i - 1)
s i
" ! S 2 S 3/
5 = 120, 000 | 180, 000
o 72, 000 108, 000
X 40, 000 60, 000
I %: E, ? *
. 2, 000 3, 000
5 % ow 4, 000 6. 000
i o 5]
" fie A& FB 2, 000 3, 000
N T T
. 120, 000 | 180, 000
BB E 4 Y Y
i 120, 000 | 180, 000
oA & ' '
mos o A BEBRAEOET B, Y Y
RIS (0) (0)
Wom oA M 4 Y Y
A
. 120, 000 | 180, 000
oA & o A % BREHE XL HET




